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Nervous Tissue Worksheet

Multiple Choice

1. Which of the following conduct impulses towards the cell body?

a. Axons

b. Dendrites

c. Nissl bodies

d. Soma

2. A neuron with one axon and several dendrites is a 

a. Multipolar neuron

b. Unipolar neuron

c. Bipolar neuron

3. Which type of neuron lies entirely within the CNS?

a. Afferent

b. Efferent

c. Interneuron

d. Postneuron

4. Which sequence best represents the course of an impulse over a reflex arc?

a. Receptor, synapse, sensory neuron, motor neuron, effector
b. Effector, sensory neuron, synapse, motor neuron, receptor

c. Receptor, motor neuron, synapse, sensory neuron, effector

d. Receptor, sensory neuron, interneuron, motor neuron, effector

5. The difference in electrical charge across a membrane is called
a. Depolarization

b. Membrane potential

c. Both a and b

d. Repolarization

6. A neuron’s resting membrane potential is
a. 70 mV

b. -70 mV

c. 30 mV

d. -30mV

7. Which of the following statements is true concerning the sodium-potassium pump?

a. Three sodium ions are pumped out of the neuron for every two potassium ions pumped into the neuron.

b. Two sodium ions are pumped out of the neuron for every three potassium ions pumped into the neuron.

c. Three sodium ions are pumped out of the neuron for every three chloride ions pumped into the neuron.

d. Three sodium ions are pumped out of the neuron for every three potassium ions pumped into the neuron.

8. During a relative refractory period

a. An action potential is impossible

b. An action potential is possible only in response to a very strong stimuli

c. An action potential is occurring
9. Voltage-gated channels are

a. Membrane channels that open and close in response to a change in electrical potential difference.
b. Membrane channels that only open in response to voltage fluctuations

c. Membrane channels that are altered from an extremely high stimulus.

d. Membrane channels that are altered from an extremely low stimulus.

10. Which of the following is not a component of a chemical synapse?

a. Synaptic knob

b. Gap junction
c. Neurotransmitter

d. Plasma membrane of postsynaptic neuron

11. A synaptic knob is located on the

a. Synaptic cleft

b. Axon

c. Telodendria
d. Cell body

12. Neurotransmitters are released in a synapse and bind to

a. Presynaptic terminals

b. The synaptic cleft

c. The base of the axon

d. Receptors on the postsynaptic terminal

13. The main chemical classes of neurotransmitters include all of the following except

a. Acetylcholine

b. Norepinephrine

c. Amino acids

d. Neuropeptides

14. The first event to occur when an adequate stimulus is applied to a neuron is

a. The membrane potential moves immediately to +30mV

b. The potassium channels open
c. The sodium channels are inactivated

d. Some of the sodium channels at the point of stimulation open

15. Severe depression can be caused by a deficit in which of the following neurotransmitters?
a. Acetylcholine

b. Amino acids

c. Amines

d. Neuropeptides

16. Which of the following is NOT a catecholamine?

a. Epinephrine

b. Norepinephrine

c. Dopamine

d. Serotonin

17.    Which is not true of myelin sheath?

A.
It is associated with white fibers in the brain.

B.
It is important for nerve impulse conduction.

C.
It covers cell bodies in the brain and spinal cord.

D.
It is destroyed in multiple sclerosis.
18.    Along a neuron, the correct pathway for impulse conduction is:

A.
dendrite, axon, cell body, and receptor.

B.
dendrite, cell body, and axon.

C.
axon, cell body, and dendrite.

D.
receptor, axon, and cell body.

19.    Which is true of a reflex arc?

A.
It does not involve the brain.

B.
It always consists of an afferent and an efferent neuron.

C.
It always consists of an afferent neuron, an efferent neuron, and an interneuron.

D.
It always consists of an afferent neuron, an efferent neuron, the brain, and the spinal cord.

20.    Regeneration of nerve fibers will take place only if the cell body is intact and the fibers have:

A.
nodes of Ranvier.

B.
a neurilemma.

C.
a myelin sheath.
D.
neurofibrils.

21.    Excitatory neurotransmitters are most likely to:

A.
increase the speed of impulse conduction.

B.
make the cell membrane impermeable.

C.
initiate an action potential.

D.
make the resting potential more negative.

22.    A lack of this/these neurotransmitter(s) in the basal ganglia is/are associated with Parkinson’s disease.

A.
norepinephrine

B.
endorphins

C.
dopamine

D.
enkephalins

23.    Interneurons reside:

A.
in the CNS and peripheral nervous system.

B.
in the CNS only.

C.
in the peripheral nervous system only.

D.
none of the above.

24.    Nerves that contain mostly afferent fibers are called:

A.
sensory nerves.

B.
motor nerves.

C.
mixed nerves.

D.
Schwann nerves.

25.  In the human nervous system, what percentage of cells are neurons?


A.  10%


B.  50%


C.  90%


D.  the ratio is unknown due to complexity of nervous system

True/False
1. _____  A membrane that exhibits a membrane potential is said to be polarized.

2. _____  Chloride ions are the dominant extracellular cations.

3. _____  Action potential and nerve impulse are synonymous.

4. _____  When repolarization has occurred, an impulse cannot be conducted.

5. _____  The action potential is an all-or-none response.

6. _____  In an adult, the nervous system is replete with both electrical and chemical synapses.
7. _____  Rapid succession stimulation of a postsynaptic neuron by a synaptic knob can have a cumulative effect over time that can result in an action potential.
8. _____  Calcium ions cause the release of neurotransmitters across the synaptic cleft.

9. _____  Cocaine produces a temporary feeling of well-being by blocking the uptake of dopamine.
Following are steps in the conduction of an impulse at a synapse. Place them in proper sequence beginning with the letter A.

1.
_____ neurotransmitters bind to receptor molecules

2.
_____ intercellular Ca++ concentration triggers movement of neurotransmitter vesicles to the plasma membrane

3.
_____ neurotransmitters move across synaptic cleft

4.
_____ neurotransmitters are inactivated by enzymes

5. _____ action potential reaches the synaptic knob

6.
_____ opening of ion channels in postsynaptic membrane

Match the neurotransmitters listed with their chemical classification.

A.  acetylcholine

B.  amines
C.  amino acids
D.  neuropeptides

1.
_____ serotonin

2.
_____ endorphins

3.
_____ epinephrine
4.    _____ histamine

5.    _____ catecholamine

6.    _____ codeine
Match the descriptions with the type of neurons.
A.  afferent
B.  efferent
C.  interneuron

1.   _____  only in brain and spinal cord
2.   _____  innervates muscles

3.   _____  carries impulses toward spinal cord and brain

4.   _____  consists mainly of unipolar neurons
5.   _____  carries motor impulses only

Match the term with its definition or description.

A. presynaptic cell
B.  neurotransmitter

C.    postsynaptic cell
D.  synaptic knob


E.    electrical synapse 
F.  chemical synapses

G.  synaptic cleft

1.
_____ the space between the pre- and postsynaptic cells

2.
_____ a tiny bulge at the end of the presynaptic cell

3.
_____ a cell that releases the neurotransmitter

4.
_____ a chemical that carries a nerve impulse across a synaptic cleft

5.
_____ this type of cell could be a neuron or a muscle cell

6.
_____ a type of synapse where the signal from the pre- to postsynaptic cell is carried by a neurotransmitter






















